Lesson 13

Read Chapter 10

Exponential functions



Given g(x) = 2x — 1 on the domain 0 < x <5 . Is g invertible 7 If
it is find the inverse , its domain and its range
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Suppose p is the price of an item and g = f(p) is the number of
items sold at that price. Explain in words the meaning of:
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Function in standard exponential form : f(x) = Aga* ,a > 0 and
41 §(x1= 1000630 T 5(£)=1000 ()2 <o 57T

N

* o) J00= looo. 1* = (000
Exumg& 5-()(7 e jooo - (1.3) 4
f(0)=A
(0) = Ao o
5—(0): Ao o = Ao
Graphs: 1
0< Q<] o > |
AS Al




Useful algebra
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Put f(x) =3- in standard exponential form

X3 ?QWQ\"
X QX?OQQQT‘.Q*Q
3
X
6—(%)’“ Ao D




Doubling time

Given an exponential function f({g) = Ap at, its doubling time is
the period of time required for f to double in value.
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The doubling time for f(x) = Ag a* is
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Frequent questions:

1. Find an exponential function through two given points.

2. Find an exponential function through a given point, with a
given doubling time.



Find a formula for the exponential function that passes through
the points (0,2\) and (3,5)
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Find a formula for the exponential function that passes through
the points (1,2) and (3,5)
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